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Center :Bhopal-07 (Lakshami Narayan College of technology Excellence)

Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Richest source of protein among the food grains is:

A Pulses

B Oilseeds
C Millets

D Cereals

Q.No: 2 Seed rate required for pearl millet is:

A 2 kg/ha

B 4 kg/ha

C 10 kg/ha

D 15 kg/ha

Q.No: 3 The most important component in global positioning system (GPS) technology is
A Sunlight

B Computers

C Electromagnetic radiation

D Satellite

No: 4 Sex determination in humans takes place by-
measurement of sperm
sex chromosomes of mother

measurement of ovum

O 0o @ >» O

sex chromosomes of father
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Q.No: 5 Most of the temperate crops are

A

O 0w

'e)

O 0w >» 0 9 0w >» 0 o6 o » 0

o6 @ >0

No: 6

No: 7

No: 8

No: 9

Photoperiod insensitive
Short day plants
Day Neutral Plants

Long day plants

Which was the first genetically modified crop for sale
Tomato flavr savr

Potato

Tobacco

Coffee

Japanese mustard seeds are mixed with berseem seeds before sowing as:
Mustard provides oilseed with fodder

Mustard acts as a relay crop

Mustard increases the flavour of berseem fodder

Mustard increases the fodder yield of berseem in the initial first cut

Initial roots of sugarcane after sowing are called as:
Prop roots

Water roots

Shoot roots

Sett roots

Which one of the following fertilisers is the cheapest source of nitrogen based on its per unit value?
Ammonium nitrate

Calcium Ammonium Nitrate

Urea

Ammonium sulphate

.No: 10 Which of the following is not an essential plant nutrient element?

.No: 11

Al
Mo
Ca
B

To increase the level of mannitol which gene transferred from E.coli to tobacco

mannitol phosphatase
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Q.No: 12

O 0w

Q.No: 13

o 0 w

Q.No: 14

O 0w

Q.No: 15

Q.No: 16

O 0O w

Q.No: 17
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arabitol dehydrogenase
mannitol dehydrogenase

mannitol pyrophospahatase

Instrument used for measuring solar radiation is called
Psycrometer

Anemometer

Barograph

Pyranometer

The most important staple food of Asia and India is
Pigeonpea

Wheat

Rice

Maize

Equivalent acidity per tonne of ammonium sulphate is:
1.50 tonnes
1.25 tonnes
1.65 tonnes

1.1 tonne

Which pollution causes curling in leaves:

CO3
50
H:S

0z

Which first genetically engineered plant is developed in year 1982

Antibiotic resistant tomato
Antibiotic resistant tobacco
Antibiotic resistant potato

Antibiotic resistant wheat

State having the highest area and production of pearl millet is

Madhya Pradesh

Uttar Pradesh
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Rajasthan TSR
D Andhra Pradesh iy wT
Q.No: 18 Which among the following is called ‘King of Cereals’ ? Fafafed & § M &1 I {5y HeT AT ?
A Maize HEFDT
B Bajra SToRT
C Rice CIe]
D Wheat A
Q.No: 19 Indian institute of farming system research situated at: YR HY yomet SrEY TRIF RUd §:
A Mumbai Eﬁ'é'
B New Delhi 7S fawelt
C Hyderabad ARG
D Meerut RS
Q.No: 20 Silviculture is the management of . RiedidweR BT UeeA B
A Hills wgTEE
B Lakes Eil
C Rivers Rt
D Forests et
Q.No: 21 Harmful substance for the crops in urea is ik & wudl & i gieRs e §
A Biuret e
B Cyanide GIEGIERS
C Amide THISS
D Uric acid gfte ot
Q.No: 22 Which among the following is poorest source of Fat? Faffed o I SI9-91 90 &7 Jed TS 9 8?2
A Fish ot
B Milk gy
C Curd <gl
D Egg 3isT
Q.No: 23 The duration of photoperiod for short day plant is BIe e & WY F Ry yprwrebral Bt 3afy g
A <10 hrs. <10 W
B 12 - 14 hrs. 12914 %
C > 10 hrs. > 10 W
D > 14 hrs. > 14 W
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Q.No: 24 Which among the following is used to locate thunderstorms

A Radar

B Rain Gauge
C Pyranometer
D Sonar

Q.No: 25 Two richest known sources of edible protein are
A milk and vegetables
some type of algae and other micro-organisms

soyabean and groundnut

O 0 w

groundnut and milk

Q.No: 26 Yellow mustard paste was originated from which of the following country?

A China

B Afghanistan
(o] India

D USA

Q.No: 27 Light Intensity influences crop growth through
A Evaopration
Photosynthesis

Evapotranspiration

O 0 w

Transpiration

Q.No: 28 Most important form of precipitation for crops is

A Mist
B Fog

C Rain
D Dew

Q.No: 29 Which one of the following fertilizers is least hygroscopic ?

A Ammonium suplhate

B Urea

C Di-ammonium phosphate
D Calcium ammonium nitrate

Q.No: 30 Acid rain is due to increase in atmospheric concentration of
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A S0, and NO; 80, I NO,
B S0, and CO; 50, 3 Co,
C CO; and CO COo, 3 co
D Ozone and dust 3 3R LGl
Q.No: 31 If only one irrigation is available for wheat, it should be provided at e g & o Faa w R Iuasy 8, @ 39 RO R IUAS FIAT A1 MY
A Maximum tillering stage Siftrmay Gjﬂé ROT
B Flowering stage U IROT
C Grain filling stage 3FTST HRA BT TR0
D Crown - root initiation stage M - 8 URYT RO

Q.No: 32 Adsali planting of sugarcane is common in:

A Northern India
B Southern India
C Hilly zone

D Central India

.No: 33 The first plant that was modified by genetic engineering was produced in a laboratory in:

1964

Q

A

B 1954
C 1974
D

1984

.No: 34 Which growth stage of pegion pea requires bright sunshine for higher yield:

branching and pod development

Q

A

B branching and flowering

C Pod Development and ripening
D

Flowering and Ripening

Q.No: 35 Optimum temperature range for cultivation of gram is:

A 40 - 45°C
B 35 - 40°C
c 10— 15°C
D 20-35°C

Q.No: 36 Which spectrum of radiation among the following is most favourable for growth of plants
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.No: 37

.No: 38

.No: 39

.No: 40

.No: 41

.No: 42

Blue
Green
Red

Yellow

A variety which is developed by mixing the seed of various genotypes which are similar in maturity, height, seed size,

colour etc. is called
Artificial Variety
Synthetic Variety
Natural Variety

Composite Variety

Which of the following is an indicator crop for boron?
Maize

Potato

Sugarbeet

Sunflower

Which of the following concentrated organic manures has maximum phosphate content?
Poultry manure

Guano

Fish meal

Stera meal

Propagating parts of perennial weeds can be removed by
digging

mowing

spudding

sickling

Which of the following is a major damaging pest in groundnut (Arachis hypogaea) during storage?
Caryedon serratus

Sitotroga cerealella

Rhyzopertha dominica

Tribolium Castaneum

Farmers (Empowerment and Protection) Agreement of Price Assurance and Farm Services Act, 2020 is:

Farming agreements between farmers and sponsors
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Processing Agreement UshHUT wsﬁ“cn
Trading agreement TR Fwiar

D Financing Agreement frdiyor wgdar

Q.No: 43 Through open pollination variety of hybrid seed can be produced by using __ . @W%mﬁmﬁ BT ITANT IR IR UBR F TR i BT Iadre o I el B

A Inbred TSI

B Pure lines bircErciy

C Self pollination ¥d QRITOT

D Hygrophyte HES LI

Q.No: 44 Which one is the most efficient methods to confer resistance against plant viruses on their respective crops. ST TS TR UTey ATt ¥ faes ufkiy U BRIy I quTet adie Bie 91 82

A RNA silencing 3RTAT AT

B DNA array ST TRuft

C PCR Yreftem

D DNA silencing ST ISR

Q.No: 45 The nitrogenous fertilizer manufactured in India which occupies the first place in production today is ____ . uRd # fftfa m@w IRF S M I B I REATAT T dE ¢l

A Calcium ammonium nitrate Fiexraw smifraw Argee

B Ammonium sulphate 3MfraH Tethe

c Ammonium phosphate 3y widhe

D Urea gfear

Q.No: 46 How A hybrid seed is produced ? & TR I $T UG B9 fobar Fam 32

A by cross-pollinated plants TRORIRI Tl gRT (by cross-pollinated plants)

B by microarray Wlsﬁ'ﬁf\'m (by microarray)

C by anthesis QAR §RT (by anthesis)

D by parthenogenesis UIIHISRR™ §RT (by parthenogenesis)

Q.No: 47 Most critical stage of nitrogen requirement in soybean is: e A H‘I’s‘g’lﬁ?&ﬁ SIRIHT BT T Hacq'iUTilTUT%:

A Pod maturity it uRuear & wH

B leaf formation =it fafor & W

[ Between bud initiation and flowering BIIBT YRYA 3R Td 31 F I

D Pre - flowering d - T & 9

Q.No: 48 The optimum cardinal temperature for germination of rice seedsis . Tad F Sl P PR & A IPAH FIEAT TUWE R

A T8 = 2ENE T8 = 2ENE

B 38-40°C 38-40°C

C 30-32°C 30-32°C
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Q.No: 49
A

B
C
D

Q.No: 50
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Q.No: 51
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Q.No: 52

O 0 w

Q.No: 53

U 0 w

Q.No: 54

o 0w
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20-229C

Which among the following has the highest protein content?
Rice

Soyabean

Gram

Wheat

Optimum seed rate required for bunch type groundnut is:
40 - 50 kg/ha

20 - 40 kg/ha

50 - 70 kg/ha

80 - 110 kg/ha

Which heritable condition reduce fertility due to meiotic errors, allowing the production of seedless varieties
eugamy

Polyploidy

exogamy

disomy

The concept of extension education process was given by

Van Den Ban
Alexander
Paul Leagans

Wilson and Gallup

Which of the following states has no arid zone
Rajasthan

Uttar Pradesh

Punjab

Haryana

The seedless watermelon is due to
Triploid

Tetraploid

Pentaploid

Diploid
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Q.No: 55 The phytotoxin produced by diseased plant of Arachis hypogia (groundnut) is: Jﬂﬁym(m) F ATRI N gRT AT BTgclela §:
A Wyerone IR
B Pisatin frefes
C Rishilin Rftfer
D Resvestrol m@ﬂ
Q.No: 56 Which one of the following is total root parasite? frofaRed & 3 S a1 yolaar 9 weldl 82
A Santalum Haga
B Orobanche S
C Loranthus R
D Cuscuta P¥hcT

.No: 57 Which of the following crops are responsible for almost 75% of pulse production in India?
Moongbean and lentil
Gram and Pigeonpea

Gram and moongbean

o 0O wm > O

Pigeonpea and moongbean

No: 58 The pH range suitable for soybean cultivation is:
5.5-6.5
7.0-8.5
6.0-7.5

g 0o w >» O

5.0-6.0

.No: 59 As per the moisture adequacy index method, the index of semi-arid climate is
100 to 80
(-) 100 to (-) 66.7
(-) 66.7 to (-) 33.3

O 60 m r» O

(-)33.3to0

Q.No: 60 Best suitable temperature for bajra cultivation is:

A 20-28°C
B 18 -22°C
c 30- 35°C
D 35-40°C

Q.No: 61 Which is the early maturing field pea variety?

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx
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5.5-6.5
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100 ¥ 80

(-) 100 ¥ (-) 66.7

(-) 66.7 ¥ (-) 33.3

(-)33.390
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No: 62

O 0 W » 0

No: 63

O o w >» O

No: 64

O 0 W » 0

Q.No: 65

Q.No: 66

O 0O w

Q.No: 67 Which of the following contributes maximum to the greenhouse effect?

A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx

Harbhajan
Kinnauri
Swarn Rekha

Development of seedless fruit without fertilization is known as
Parthenocarpy

Self - compatibility

Apomixis

self-incompatibility

How much percentage of nitrogen consist in Earth's Atmosphere?
25%
12%
92%
78%

Bulk population breeding is mainly suitable for
Small grains

Vegetables

Flowers

Fruits

Optimum seed rate for sowing chickpea is

50—75kg/ha
125 -150 kg/ha
200 kg/ha.

75 — 100 kg/ha

Seed rate required for soybean is:
20 - 30 kg/ha

40 - 50 kg/ha.

5 - 10 kg/ha

10 - 20 kg/ha

Carbon dioxide
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B
C
D

Q.No: 68

O 0w

Q.No: 69

O 0 w

Q.No: 70

O 0w

Q.No: 71

O 0O w

Q.No: 72

O 0o w

Q.No: 73

e

Nitrous oxide

Freon

Methane

Composites varieties are developed by using
Complementary gene production

Hybrid from open pollinated variety
Cross pollination

Advanced generation seed mixtures obtained from high yielding intervarietal or interracial crosses.

Physiological drought in crops is caused due to:
Soil drought

hydrological drought

Atmospheric drought

Increased concentration of soil solution

The term Amphimixis refer to

Heterbeltiosis

asexual reproduction, which occurs without fertilisation
Vegetatively propagated species

sexual reproduction involving the fusion of two different gametes to form a zygote

The expression of a transgene in the target tissue is identified by which indicator
inducer

reporter

promoter

terminator

The word agriculture is derived from language.
French

Greek

Latin

English

Which green house gas is mainly released from marshes and wet lands

CHgy

NzO
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.No: 75

.No: 76

.No: 77

.No: 78

.No: 79

CO;

[OF]

The initial gene pool of a composite population is composed of
germplasm lines

pure line

inbred lines

parent line

Major source of methane emission in India is
Wheat Fields

Rice Fields

Maize Fields

Fruit orchards

Sulphur content (Approximate) in Single Super Phosphate is :
18%

15%

8%

11%

Excess of phosphorus in soil causes deficiency of:
Manganese

Magnesium

Potassium

Zinc

The term used for wind pollination is
Anemophily

Chiropterophily

Entomophily

Ornithophily

Which of the following operation is specially followed in chickpea:
Propping

Nipping

De-Suckering

Chipping
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Q.No: 80 Which of the following elements can be absorbed both in anionic and cationic forms ?

A

B
C
D

Q.No: 81

O 0w

Q.No: 82

Q.No: 83

o 0 W

Q.No: 84

O 0O w

Q.No: 85

o 0 w
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Potassium
Phosphorus
Nitrogen

Calcium

Which of the following is the highest producer of gram in India?
Haryana

Uttar Pradesh

Punjab

Madhya Pradesh

Which of the following gases contributes to about 50% of global warming
Cco,
N,O
CFC

Methane

Optimum depth of sowing Bengal gram seeds is:
12-15cm

10-12cm

3-5cm

5-8cm

World Meteorological Organization is located at
Pune

Geneva

London

Washington

Most important oilseed crop contributing more than 75% of the oilseed production in India is

Castor and sunflower
Mustard and sesame
Groundnut and mustard

Groundnut and castor
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Q.No: 86 Which among the following is most widely spread in world? Fofefad & @ w1 fay & gaffte sus wu ¥ S gan 32
A Brassica rapa SRy ¥
B Brassica nigra Ryt form
[ Brassica juncea ST Sifear
D Brassica carinata ST Hfrer

Q.No: 87 Critical weed free period for mustard seed is:
A up to 80 days
Up to 20 days

up to 70 - 80 days after sowing.

O 0 W

up to 60 days

Q.No: 88 The luxury consumption is common of which of the following nutrients?

A Nitrogen

B Sulphur

C Potassium
D Phosphorus

Q.No: 89 Most widely cultivated pulse in India is:

A Peas

B Red Gram
C Lentil

D Gram

Q.No: 90 Crop rotation is also known as

A Sequential cropping
B Ratoon cropping

C Relay cropping

D Overlapping cropping

Q.No: 91 Base temperature for wheat is

A 10 °C
B 45°C
C 15 °C
D 1°C

Q.No: 92 Milk is not considered a balanced diet now-a-days because of the absence of.
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A Iron and Vitamin C SR 3R e ¢
B Calcium and Vitamin C Fierray ok et
C Magnesium and Vitamin D Wfifkrw ok ferftm b
D Iron and Vitamin A TR SR et A
Q.No: 93 The lowest temperature below which there is no growth is called . YATH d9HA o = Hﬁé q@ ERENGIE %, HEdld gl
A Optimum temperature SYdH dIqHT
B Base Temperature S{TYTR dTIHTT
C Minimum temperature gAdH dHE
D Maximum temperature 3iftreray araHT
Q.No: 94 The term ‘Agriculture Lime’ refers to . TR TEH Tsg P Gefid o g
A Cao Cao
B CaCoO; CaCoO;
I CaS0. CaS0.
D CaHCO; CaHCO;
Q.No: 95 is a type of fruit that develops from an inflorescence, rather than from a single flower. TH THR &1 B ¢ ol Uh Td $ IoI U JUHH § IR gar g1
A Achene MEE]
B Composite fruit fafda wa
C Caryopsis SR
D Fleshy fruit HqiFd B
Q.No: 96 Chlorites are basically silicates of FARTSE T =g J 399 Rferde g §
A Aluminium with some iron and magnesium TB MTERA R R & w1y vy
B Magnesium with some iron and aluminium DO AR aﬁqu&ﬁw%mﬂmm
C Iron and aluminium STRA 3R TegHifrag
D Iron with some magnesium and aluminium £ iRy SﬁTERIIﬂﬁW F TIY AR
Carbon dioxide concentrations have increased substantially since the beginning of the industrial era, rising from an annual | 3iENIE T F1 YE3TA & TG I Hla- SFHFTS Tigdl § FH! IS §S 8, O 1700 F RF & 3(d H 280 didied &
Q.No: 97 average of 280 ppm in the late 1700s to approximately ppm in 2021. dehr 2021 o Ty didfieg g 7E B
A 450 ppm 450 difien
B 396 ppm 396 Widiea
C 414 ppm 414 difiea
D 480 ppm 480 diftew
Q.No: 98 “Ratooning” is practiced in which of the following crops? Frofifad & @ fr waa & "I &1 enarg fsar ST 82
A Sugarcane and Napier grass T 3R AfER T
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Q.No: 99
A

B
c
D
Q.No: 100
A
B
c
D

Q.No: 101
A

.No: 102

o

o 0O w »

Q.No: 103
A

B
C
D
Q.No: 104

A
B

=

Suagrabeet and sugarcane

Sugarcane and bajra

Suagarcane and maize

A healthy crop of berseem gives about a seed yield per hectare.
20-25

6-8

2-3

12-15

In a natural community, the primary consumers are:
Herbivores

Decomposers

Scavengers

Carnivores

Mark the incorrect statements regarding Annual Financial Statement(Budget).
Information that concerns the assets and liabilities of the government in the capital account

There is a constitutional requirement in India (Article 112) to present before the Parliament a statement of
estimated receipts and expenditures of the government in respect of every financial year.

Information that relates to the current and previous financial year is included in the revenue account

Budget document relates to the receipts and expenditures of the government for a particular financial year

When banks accept a fixed sum of money from an individual for a definite term and pay on maturity with
interest, the deposit is known as:

Term deposit araft s
Demand deposit | ST
Bond E1
Mortgage YD

Who among the following person is the founder of Hyderabad?
Mir Mahbub Ali Khan

Mir Osman Ali Khan

Mir Tahniyath Ali Khan

Nizam-ul-Mulk

During which of the following dynasty the Silk route was established?
Tang Dynasty

Song Dynasty
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Q.No: 105
A

O O w

.No: 106

.No: 107

.No: 108

.No: 109

Q.No: 110

A

e

Han Dynasty

Zhou Dynasty

How many members are there in the RBI Board?
15
14
13
12

Which of the member of the drafting committee resigned from the post?
B.L Mitra

D.P Khaitan

Madhav Rao

T.T Krishnamachari

Which of the following states has become the first to geotag community kitchens?
Madhya Pradesh

Maharashtra

Uttar Pradesh

Gujarat

Which state government to provide free rice for one year under the State Food Security Scheme?
Kerala

Andhra Pradesh

Karnataka

Odisha

Which of the following matters are not dealt with by the Union Government?
Foreign affairs

Defence

Currency

Agriculture

Outcome of war between British India and Nepal in 1814 was:
1. Nepal left its claim on Sikkim areas

2. The Gurkhas are now the new part of Indian army

Select the correct answer using the code given below:

2 only
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Q.No: 111
A

B
C
D
Q.No: 112
A
B
C
D
Q.No: 113
A
B
c
D
Q.No: 114
A
B
C
D
Q.No: 115
A
B
c
D
Q.No: 116
A

B
C
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Both 1 and 2
1 only

Neither 1 nor 2

Who has been awarded the Best Player in the World (Male) at the FIFA Football Awards 2021?

Thomas Tuchel
Robert Lewandowski
Edouard Mendy

Cristiano Ronaldo

The rivers of northern plain have the drainage system resembling the branches of a tree which is known as

trellis
dendritic
centripetal

radial

Which of the following is the foundation day of the State of Madhya Pradesh?
1 December

1 July

1 February

1 November

Who was Mahaveer Swami's first female disciple?
Chandana

Priya Darshana

Arya sudharman

Devardhi Kshamashraman

How many year the polio mainly affects in children?
6 year old
5 year old
7 year old

10 year old

Mendel would have explained the Law of independent assortment, if
Linkage
Recombination

Autosomes
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D Heterogamete fawagrmes
Q.No: 117 Some roots, called , arise from an organ other than the radicle. P9 o3, e HET oIl 7, 3 ga (fSfher) & Srefmar fost o o & et gielt B
A Adventitious roots 3THTRIH SIS (Adventitious roots)
B Stilt roots AGT oIS (Stilt roots)
C Tap roots Y- &S (Tap roots )
D Fibrous roots ¥R &S (Fibrous roots)
Q.No: 118 The bacterium called can take atmospheric nitrogen and convert it into a usable form. S ST IGHSH AT3erer B faca Terff ¥ uRafdfd R 3a 7 |
A Rhizobium HEEIELE
B Listeria monocytogenes ferefea M=aTEee=
C Citrobacter freundii ArgeIageR Higt
D E.Coli 3. #ifer
Q.No: 119 When more than 20% of the body weight is due to fat, the person is suffering from e TRR & T BT 20% 4 34 a8 P SR I 8, o AT fbad difed giar 872
A Obesity. Hierar
B Scurvy. df
C Kwashiorkor. PIRERSR
D Marasmus wfdT @t gedt
Q.No: 120 What is the chemical name of vitamin C? faerfem <t &1 e AW @ R 2
A Folic acid wifte Thrs
B Ascorbic acid Twhia® TRIS
C Niacin =
D Thiamine YR
Consider the following statements: iR sy wR TR &3
1. Albumin synthesis occurs exclusively in the liver and it help in maintaining intravascular colloid osmotic pressure Q@&H Howor faRiy w9 9 gpd H giar g ok 7% STARP T PIAES IS ST Bl FIC 3@ H AGE BT §
QNo: 121 2. Fibrogen protein synthesis occurs in kidneys and it helps in formation of antibodies BIEsIoH e SNy et # gidr § 3R g8 tdsidt & fFAufu § Hee ovar g
Which of the above statements is/are correct? IRIed FUTNH J aﬂ’«r-m/% H’é’l %/%7
A Neither 1 nor 2 AFd1aRAH2
B 2 Only Fad 2
o Both 1 & 2 1 3R 2 g
D 1 Only Had 1
Q.No: 122 The phenomenon where a sound produced is heard again due to reflection is called ———- I8 IReT R Ia7 @ WadT & BRI R I G &l § ———— Hean 8
A Mirage T
B Interference fasor
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A

B
C
D

Q
A
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An echo TP S

Sound bounce @y 3T

A passenger in a moving train tosses a coin that falls behind him. It means that the motion of the train is it ¢ W U A U RyaepT ISTerdl 3 S 39 Ui AR ST 81 39T Haad § [ o 31 a8
Along circular tracks MR yeial & ary

Uniform THIHAT

Accelerated @Ra

Retarded e

The rusting of iron is an example of-
Reduction

Dissociation

Oxidation

Ionization

Goitre is caused by the deficiency of—

frafifad ¥ 3 319 9 @8 J ST @ BT 3’0 37

o7 A7 A7 fhue! HH P HRU IOF BT 32

Chlorine FARA

Iodine S

Calcium Ffexray

Zinc e

Which of the following is not a bacterial disease ? 5§ ¥ F1F 91 Shang 4 7 72
Tuberculosis &

Typhoid AT TR

Poliomyelitis aiferar

Cholera Ll

Who among the following is known as the father of Green Revolution in India? fofied # f5d yRa & gd Hifd & S & TU H 9T ST 32
Chandi prasad bhatt ESRLICR

Dr. M. S. Swaminathan 1. TH. TH. WA
sonam wangchuk T TS

Ravindra kumar sinha i PR Rt

Which of the following is an interaction where the fitness of one species has absolutely no effect what so ever on that of Profia 1 & @ o v s B 3 wat v aonfy 51 Ry ot @3{ 2 et 1f Re @ R . T

other?
Competition
Neutralism

Commensalism

eyt
IeRfFar
Tgforar
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Q
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A
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.No: 129

.No: 130

.No: 131

.No: 132

.No: 133

.No: 134

Symbiosis

sorting algorithms has the lowest worst-case complexity.
Merge Sort
Quick Sort
Bubble Sort

Selection Sort

The smallest unit of data in a computer is
Byte

Nibble

Bit

Kilobyte

Which of the following is the most common input device?
Printer

Speaker

Scanner

Keyboards

A model is used to analyse a complex system because it:

is usually computer-based

is aesthetically appealing

contains only the essential features needed and hence easy to manipulate

is closer to reality than the original system

BIOS is used for?

None of the given options
It helps in routing
Loading operating system

Updating system information on network

All macro keyboard shortcuts include the key.
Ctrl

Alt

F11

Shift
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Q.No: 135 Which of the following has the fastest speed?

A
B
C
D
Q
A
B
C
D
Q
A
B
C
D

Q
A

O 0 w

o
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.No: 136

.No: 137

.No: 138

.No: 139

.No: 140

.No: 141

Video terminals
Magnetic tapes and disks
Sensor, mechanical controllers

CPU

0SS usually comes with which type of License?
Proprietary licence

Lesser general public licence

Distribution licence

Copyright licence

In information technology, Kbps stands for?
Kilobits per second

Kilobits per signal

Kilobits per source

Kilobits per software

What is the name of the that display feature that draws emphasis to areas of the screen that need operator input?

Reverse Video
Touch Screen
Pixel

Cursor

Which of the following is not a method of purchasing software?
Duplicating it

Downloading it

Its ordering has been altered.

Purchasing pre-written software

Which is NOT present in Ms Excel Data tools Tab?
Flash Fill

Mail merge

Remove Duplicates

Data Validation

Communication between a computer and a keyboard is

All of the given options

mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.a:%
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Frofafed & @ feget 7y ve@ aw 32

difat efif9a (Video terminals)

4aP1g 237 3R f3F (Magnetic tapes and disks)
IR, Fif® 3@ (Sensor, mechanical controllers)
idig

0SS THHIE: fhg UhR & e & A1 STl 82
i agdd
AW R Jrdeie argad
faaRor argdw
oy —

T HEifiies! #, Heded (Kbps) &1 o 82
Kilobits per second

Kilobits per signal

Kilobits per source

Kilobits per software

I FET WR &7 19 F1 N W F 39 &3 W SR a1 3 o 3f{oRex 37Ye 3 sraxgsmdr gt 82
Rt fifar

T T

e

FR

faffed & § SH-91 Sl Tie &1 alieT T6f 72
TS AHA DA

Y SISAIS BT

TDT A TG T T B

q:cf-f%r@a (pre-written) WIGEATR WG

Ms Excel STl ¢edl o & I &1 -1l 8iefl & 2
A fpe
et Tl

frqa gwftde
3Tt afersR=

FHTR AR PlEIS & dF TR (Communication) H
few Mg w3t fawe
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Half Duplex B g
Simplex Rrrrdreg
Full Duplex Fa g@e
.No: 142 What type of brackets is used in writing JavaScript arrays? STaT f&pp wRult foras # 59 UsR & Sdhe &1 IuanT fbar ST 372
Parentheses o
Curly Eaci
Angle ol
Square @it
No: 143 II::I,::-A; (;Zts\i/\és)nnty;rii: tchh;Iclj;'fetnelr\:zy:fnt;sef::v:t?eenth from the right end. Arun is third to the left of Nayan in the row. What q&ﬁqaﬁﬁaﬁwﬁﬁ, T T BR Q ey R TR 21 SR Ui F T F 9 d 31 U ¥ 9 R 9§ eru
7 7
10 10
9 9
8 8
.No: 144 In a certain code language, ANNOUNCE is written as 5314211514141. How will WRITTEN be written as in that language? % fAfyd i W9 H, ANNOUNCE &1 5314211514141 forar Sram 81 I w1 & WRITTEN &1 3 feram smem
145202191823 145202191823
145202091923 145202091923
145202091824 145202091824
145202091823 145202091823
In the following figure, enter the omitted number in place of question mark (?). Frafafad Wﬁ o, vy fag ?) F VM R q J=AT Jd Fifor|
5 5
4 1 4 1
.No: 145
I 2 ;i 2
25 25
64 64
2 2
1 1
3 3
.No: 146 In a code language, ENROLLMENT is written as FOSPMMNFOU. How will FABRICATION be written as in that language? TP Fe UTST H, ENROLLMENT &1 FOSPMMNFOU foRaT ST §1 FABRICATION & 39 HTeT & 39 forar smamm?
GBCSJIDBUJOP GBCSIDBUJOP
GBCSIDBUJPO GBCSIDBUJPO
GBCSJDBUJPM GBCSJDBUJPM
GBCSJDAUJPO GBCSIDAUJPO
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Find the missing letters in the following series. fufafea gaar & T 3HER AT FIfoR?
Q.No: 147
EMP, GPT, ISX, KVB, ? EMP, GPT, ISX, KVB, ?
A EPT EPT
B MYF MYF
C BSG BSG
D MYV MYV
Q.No: 148 If *+’ means ‘—, 'x' means *+’, + means ‘+’. and '~ means *x’, then: 88 x 11 -7 +4 =72 afe <+ &1 3 = Il arf = arf =+, 3R~ @1 3 ‘X’,%, 88 x 11-7+4
A 45 45
B 70 70
C 65 65
D 60 60
Which is the WRONG term in the following series? fFaffad saen # Tad ue EaE| HT%?
Q.No: 149
STEM, WPJI, AHOF, EHTA, IDYW STEM, WPJI, AHOF, EHTA, IDYW
A IDYW IDYW
B AHOF AHOF
C EHTA EHTA
D WPJI WPJI

Q.No: 150 Two cars & ®R A 3R B, Sl 500 frdt R 7, T Fif¥d T iR t et T W T R P 3R Ia1 Y& el §1 R A BI 77 57 fbel/der § iR SR B @I 40 fefy/eer 31
Aand B, TUSW U F I PR A ST U I gf B 3R W KT B, SN Gt B, 40 e 9% Fadt € iR g K W UgHdt § Taih gl R O Od ¥ UfEH BT 3R 9d & &, 1.5 9 90 9% R Sl § 3R R 918 4 Rl & gSaT 7, S8 6 9% T ¢ 9
which are 3 fiigail K 3R L & o9 Feafer ok afasr gikal & o &1 iR @ 872
500 km
apart,
start
moving
towards
each
other on
a straight
road at a
certain
point of
time. The
speed of
carAis
57 km/hr
and that
of car B
is 40
km/hr.
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After first
hour car
A which
is moving
from
west to
east
takes a
left turn,
runs for
40
minutes
and
reaches
point K
whereas
the other
car which
was
moving
from east
to west,
keeps
running
on the
road till
1.5 hours
and then
takes a
left turn,
runs for
half an
hour and
reaches
point L.
What is
the
difference
between
the
vertical
and
horizontal
distances
between
the two
points K
and L?

Google Play
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Q.No: 151

325 km
372 km
328 km
383 km

Choose the choice that is related to the third term in the same way that the second term is related to the first term.

OUTL : WWPP :: ARTH : ?

325 et
372 fedit
328 fosit
383 fosit

OUTL : WWPP :: ARTH : ?
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A ITPL ITPL

B PILT PILT

C IPLT IPLT

D IPTL IPTL

Q.No: 152 Choose the odd one from the given alternatives. faw U fawedt @ i &1 g

A RYZ RYZ

B IPQ IPQ

C UBC UBC

D FGM FGM

Directions: Read the following information carefully and answer the given question. 3w AR THe @t W o3 R R a T T SR AR

Vikas passed his graduation 1 year before Prakash but 2 years after Sudhir. Sudhir passed graduation after 2 years and 1 T I TET ¥ 1 T T A iR ¥ o gaaE m g e ﬁ‘iﬁTeHﬁ‘ﬂ 3R W JHa: 2 9 AR 1

Q.No: 153 ;ii;ss}:espectlvely from Suresh and Mukesh, but 1 year before Amit. Randhir passed his graduation one year before fopa, AR frd & 1 av TEa 3 ur Ren) mﬂﬁaﬁm@rwmuﬂﬁ 3 T fea
aqqqrr{ a9 R o fraq ?
Who passed the graduation exam last? 1wl a T
A Prakash BT
B Sudhir iR
C Amit Sifda
D Vikash faera
Select the set in which the numbers are related in the same way as are the numbers of the following set. I9 Y2 BT T B O AR 3T /e Y eifda § S Fuferied ¥e & AW 8
Q.No: 154
(4, 14, 44) (4, 14, 44)
A (11, 35, 107) (11, 35, 107)
B (9, 30, 57) (9, 30, 57)
C (5, 15, 30) (5, 15, 30)
D (7, 23, 69) (7, 23, 69)
Q.No: 155 IV’ means =, 'X' means “+, ‘Z’ means *x’, and "Y' means *-, then: 72V 6 X 8 Y 2 gfg v dr el <, @t -, e, Ry d e o d 2 vexs Y2
A 18 18
B 22 22
C 20 20
D 25 25

A,B,C, D, E3RF U\ 3 RE I TP (@ FPAR A IS GUE | C, AR EF ST A YT gaNT | B,

s 0, i g, 5 St . e 0 S ST T IR TS o
9 9 : : P 9By ‘ 1 ST D ¥ T F Fo7 gon §2
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A

B
C
D

Q

O 0w

.No: 157

.No: 158

.No: 159

.No: 160

.No: 161

AandF
B and F
Cand A

Eand B

A hall is 16m broad and 12m long. Find the cost of carpeting itat 15 rs/m?.

Rs. 2008
Rs. 2888
Rs.2080
Rs. 2880

The ratio of age of father and son is x:y. If father's age is increased by 1 years and son's age is increased by 5 year then
the new ratio of their ages becomes 17:13. Given that the sum of their actual ages is 54. Find the actual ratio of their
ages:

21:22
17:37
11:7

13:19

Ratio of two numbers is 2 : 3 and their L.C.M is 252. Find the numbers.
60, 50

126, 147

84,126

126, 105

Find the Median of first 20 composite numbers.
19

22,5

21

20

On a river, Q is the mid-point between two points P and R on the same bank of the river. A boat can go from P to Q and
back in 12 hours, and from P to R in 16 hours 40 min. How long would it take to go from R to P?

1
71k
6 h

5h
3h
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AIRF
B 3R F
C3RA
E3RB

T B 16 He 98T 3R 12 Her e 3159 15 30 A WY eF e Ed I aien
2008 ¥
2888 ¥
2080 ¥W
2880 ¥

T SiR G BT 3R BT S x: y T 3R O BT oy 1 99 F 9 W § SR I F 31g 5 79 § g Il 8, A 3@
17:13 B 5w I8 feam gen B & St a1 Wiie oy &1 A 54 §1 IS SU $T IRAfAS U I1d Y

21:22

17:37

11:7

13:19

<) T3l BT SUTd 2 : 3 § SR ST TYTH JHUAS 252 § A Y=Y T P
60, 50

126, 147

84, 126

126, 105

TS 20 Wgad Gemsit 3 At g1 il
19

225

21

20

5t 7t B 7 F U @ IR W <) [Igahi p iR R & g wen fiig Q 1 I A/ P} Q T Wb AU Pt 12 T
YR AP 16 T 40 fiFTe F o bl 31 FATRT Y R | P db oM H fba1 w0 @i

Ty
6 He
5%
3%
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Q.No: 162

O O W >

.No: 163

o

O 0 W >

.No: 164

o

o 0O W >

.No: 165

o

.No: 166

Q.No: 167

@

A can do a piece of work in 15 days, B can do the same work in 10 days and C do the same work in 12 days. All three of A, 15 f&=} § T &9 B! T B Jobdll §, B 3T HH BT 10ﬁ:ﬁﬁ%mm%3ﬁch}:ﬁa§maﬁ 12f¢

them do the same work together, then they collectively get Rs. 9000. If B’s share is divided among three new persons D, E g1 3 diFi Tsb I1Y H1H g, 03U forg 3 9Mfed TU § 9000 303 e ¥ At B & R &) o 1
and F in the ratio of 1 : 5 : 3 respectively then find the share of F. ¥ 9 U fdaat D, E 3R F & o9 faasia fovan wmar %, @ F &1 e 9@ ﬁﬁfql

2700 2700

1800 1800

1400 1400

1200 1200

g T 0 St 1 58 17 11 St vt KT S50 <1 R o e 4 oA T
68.35 68.35

68.15 68.15

68.45 68.45

68.25 68.25

Ramesh and Suresh started a business. Ramesh invested Rs.9000 for ten months and Suresh invested Rs.6000 for a year. | I8RI 3R QXM I T TG & 7| A 7 &8 AL & T 9000 ¥ 3R Ge=1 3 o 99 & 1 6000 T o f

If the profit at the end of a year was Rs.4500, find Suresh’s share. ¥ F 3id H H 4500 . 1, at E?Q 1 fgwan F1d P |

Rs. 2700 2700 %.

Rs. 2000 2000 %.

Rs. 2500 2500 %.

Rs. 3600 3600 %.

The ratio of the equal and unequal sides of an isosceles triangle is 3 : 5. If its perimeter is 110 cm, then its area is: TS GHfgaTg Bye B A 3R SR YWl &7 SuTd 3 : 5 B AfE 3UET uRAT 110 I 7, O SUBT &% §:
125+4/11 cm? 125+v/11 o2

125 cm? 125 o2

250 cm? 250 o

25011 cm? 2504/11 T2

Square tiles of sides 20 cm are laid on the floor of room 10 m x 4.5 m. How many tiles will be needed? 20 7t YTait aTeht THR eTee 10 W x 4.5 W H HWR P B R WA T T fraht ezl B sazasar g
1125 1125

1050 1050

1025 1025

700 700

If 6 years are subtracted from the present age of Randheer and the remainder is divided by 18, then the present age of his afe YUER & TdHH 31 ¥ 6 T HH HR 37T T TUT AW 31 HY 18 F T 371 ST A I¥S G (Y BT IAAM 31T
grandson Anup is obtained. If Anup is 2 years younger to Mahesh whose age is 5 years then what is the age of Randheer? | 3/ U, TR @ o1 5 98 §, ¥ 2 a9 SieT & df R 3} oy o grfte

60 years 60 ¥
48 years 48 af
84 years 84 a9
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D

Q.No: 168

O 0O W >

Q.No: 169

Q.No: 170

A

Q.No: 171
A

B
C
D

Q.No: 172
A

o 0 w
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96 years 96 af

Solve: Fukas

[81+9+250f 5-10 x 10 + (225 + 5- 196 < 4 + 10 x 3)] [81+9+5&125-10 x 10 + (225 + 5- 196 + 4 + 10 x 3)]
42 42

35 35

43 43

60 60

The semi diameter of a circle is | cm less than half the side of a square whose area is 256 cm?. The area

of the circle is

165 cm?
154 cm?
132 cm?

144 cm?

Find the smallest fraction of the following fractions?
42
27
24
19

31

29

31

17

Frefofed & § 9gaad Teg $1 999 BIfg-
ST

TEITER

it

qY

Frefafad # ¥ srls ad-i aTd Xeg BT I97 Bif-
qETaE
FEYG

hiid

RZ )

T I o 3T T U o e % e 1 At v # fme dawe 256 T2 %1 awa

165 i
154 o
132 anfi?
144 o2

Profifed el 7 3 ged B1 w1 #R

E

27

2_4

19

E.

29

E.

17
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Q.No: 173 F=fifed & ¥ sy o=t aret <reg &7 7o Pifoe-

A Iyaed
B Syt
C S=rfa
D Eric)

Frefafed & § o # Yeifed aeary & foe = i e fowedt & 9 Sfud gera &1 991 Fifn-

Q.No: 174
9 BT G e A W forted & I (srmwifa a )
A W W QAT
B RR == = &M
C 3 e fraf frgg
D BT 6 BT

No: 175 = & § & sr=ur & 3reqy fba UbR & B1d 872
e
IR

URE
ar

o0 ®w >» o

No: 176 Frfifad & @ e dieifet o1 o O &t I P TR §ER-SER” 2
TR BT RN SRTST, o Tiid &1 g
it # F=, R # iR
TS WA A I, FHSY 7 W
HTH WRT T § T T8

o 0o w » O

Q.No: 177 Frfifed & 3 SH-31 g <Y WR T $T &) ISR 32
A 3ty

B AT

c ayftf

D wewad

Q.No: 178 F=fifEd & I -t To1, TR RIS Tag” @t 82
A quH

B P

C S far

D o=t smier
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Q.No: 179 P& & ¥ HH-u1 fabed auwfias! aftfe @ &1 gt Iamx0 32
AR g9 99 T 41 BT TS I Al
A Y} dre R o e el femm #)
w31 % Ble1 o w1 B
TRg gafR I i
° e faar afg & gkmi
W T sres1 ufom g
Y § Wi NG Bt Huiar 5
€ e e T fFde g A

Q.No: 180 F=fIfed # § faxe st &1 797 Fifor-

Q.No: 181 “Rach g< &ar o bt W o, =rclht 7€ 1S dfekrdt & Pl & & Bi-a1 sdioR 82
A I IAPR

H

YHP AHAPR

P AR

Q.No: 182 F=fifad # ¥ “wedR” & HH-91 999 € 2
A Srarftura TaRT

B L LI

D g W

= fear man are FEfafed A 9 6w ared &1 IaTeRu 72
I 0 Bl S B
A forararsr

Q.No: 183

]
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Q.No: 184 S F IR ®IF $ =P I, Fe # I G IS &1 99 Bifore-

A B P

B "gU, ", et
C e, "om, e
D R

Q.No: 185 FHfied & & gerarT "Xl &1 i fearr ~ &1 @@ o 2

A B¢ U A Y

B AT BFF §Y AT

C HAaTE! a1

D yiis afea &1 afvea

Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.
Q.No: 186
The smell of freshly made coffee made me happy.
delicious
dull

energetic

o 0O w »

eager

In the question below, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order.

P. Not that I don't enjoy mornings, but I just work better at night.
Q.No: 187
Q. The office had a schedule, and I more or less stuck to it.

R. I've always been a night person.

S. But with a 9-7 job, I never had the opportunity to give myself the flexibility to work during my best hours.
PRSQ

QSPR

RPSQ

O 0 W >

SQPR

Q.No: 188 In the question below, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order.

P. There was this one place I was particularly excited about- The Peranakan mansion.
Q. When I was reading about Penang, I learnt that it was a culturally rich place.

R. I love museums, temples, heritage places and the likes.
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S. A bunch of super wealthy Chinese people lived there once and now their home was a museum.
A SQPR
B QSRP
C RQPS
D RSQP
Select the most appropriate option to fill in the blank.
Q.No: 189
Mr. Pearson interrupted their harmless and reminded them of the seriousness of the situation.
A field
B chatter
C guile
D trouble
Select the most appropriate option to fill in the blank.
Q.No: 190
A person must speak eloquently and while making a speech.
A disrespectfully
B politely
C rudely
D hurriedly
Identify the segment that contains a grammatical error. If there is no error, select 'No error'.
Q.No: 191
Many countries are not acting fast enough to controlled climate change.
A fast enough to controlled
B Many countries are not acting
C climate change.
D No error.
In the below question, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentences from among the options.
P. As the women's leadership pipeline shrinks at senior levels, the very fact that they may be the only woman in the room can cause anxiety.
QNo: 192 Q. The stress arising out of this can undermine the actual performance in the setting.
R. Stereotype threat is a situational predicament in which people feel themselves to be at risk of conforming to stereotypes about their social group, especially if they are in a minority in a given group.
S. The process of trying to suppress the anxiety, then takes up needed cognitive resources, which ultimately weakens performance on the task-at-hand.
A RQPS

SQRP
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RSPQ
D PRQS

Select the most appropriate meaning of the given idiom.
Q.No: 193
To lead one by the nose.

To have the freedom to choose.
To be anxious to start something.

To control someone completely.

O 60 ®w >

To try again after failing at something.

Select the synonym of the given word.
Q.No: 194
Distinguished

Lowly
Typical
Standard

O O W >

Esteemed

In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order.

P. He raised the door and I caught sight of the top of a spiral staircase.
Q.No: 195
Q. When he had knocked down the whole sepulchre he proceeded to dig at the earth, and beneath where the sepulchre had been I saw a trap-door.

R. With the pickaxe he at once began to destroy the empty sepulchre in the middle of the tomb.
S. One by one he took the stones and piled them up in a corner.

RSQP

RPQS

QSRP

O O @ »

QPRS

Select the most appropriate meaning of the given idiom.
Q.No: 196
Kick someone when they are down.
To cause further trouble to someone already in a difficult situation.
To reject or disown the friends or associates who have helped.

To be angry with or disappointed in someone.

o 0O w »

To create a disturbance deliberately.

Q.No: 197 In the below question, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentences from among the options.
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P. Of this, 78 million, or 15.6% of all domestic migrants, moved from rural to urban areas.
Q. About 450 million of 1.2 billion Indians migrated within the country, according to recently released Census 2011 data.
R. This is how their numbers have changed over 2001 and where they moved.

S. In terms of the number of rural-to-urban migrants received, the share of the top 25 districts was 31%.
PRQS
SQPR
QPRS

O 0 ® >

RQPS

In the below question, sentence/passage is split into four parts and named P, Q, R & S. These four parts are not given in their proper order. Read the sentence/passage and find out which of the four combinations is correct.

P. He went over all the happenings of the last two days.
Q.No: 198
Q. Mr. Steinbeck put out the lantern.

R. Only the glow of his pipe shone in the courtyard now and again.
S. He was thinking hard.

QPRS

SPQR

SRQP

O O wm >

QRSP

Select the most appropriate meaning of the given idiom.
Q.No: 199
The last straw.
The only option left after a series of unsuccessful attempts. © MPESB. Al rights reserved
The last ray of hope in an unfortunate situation.

The last financial resource.

o O ® >

The final problem in a series of problems that makes the situation intolerable.

Select the most appropriate synonym of the given word.
Q.No: 200
Sag

Diminish
Doubt

Participate

o 0 ®w >

Proliferate
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